ELERS = RENE B smewmsl  RENEWRIR  |RmEIst| TIt AT | e SIS SRR
107360162090012 | e BT 050101 XZF E=hzl Eptnpd GiE 238 89.8 84.57
107360162090008 | X7 pvecl 050101 XZF =kl e ik 237 88.6 83.8
107360162090027 | EFHK pvecalis 050103 NESNFF e=Lo Epinpd g 252 87.8 85.9
107360162090033 | T 32 B 050104 | FREGLENESE | £BH Eptapil = 243 93 87
107360162090035 | =& BT 050104 | HEGLHENEZE | £B# Eptinpd e 221 92.17 | 82.92
107360162090029 | iz B 050104 | FREGRHENESE | £BE e ik 212 93.83 | 82.25
107360162090070 | JEHELE BT 050105 PEHRNE e=k:] Eptinpd ey 250 92.67 88
107360162090036 | 275 NFb 050105 PEGANE eq=kzl e ik 227 90.67 | 83.17
107360162090039 | HEEE pve=ally 050105 PEHNE £l Eptinpd g 208 94.33 | 81.83
107360162090042 | #[EIE NFb 050105 PEGANE =R i iapd g 208 93.5 81.42
107360162090064 | FEfE X 050105 PEHANZE £l e g 205 91.17 | 79.75
107360162090077 | =848 pvg=ali 050106 | HEIIANE | £B% Epipd ik 223 90.4 82.37
107360162090082 | 5 pvecal 050106 | FEIIAANE | 2B Eptnpd GiE 208 90 79.67
107360107360024 | 3K{EIH PSSR 060200 hESE e=kzl SiETL HiEE 0 92 92
107360162090088 | 3KZ= PRSESACE BT 060200 hESE £l Eptinpd g 224 90.85 | 82.73
107360162090125 | % PRSES A B 060200 hESE eq=kzl i inpd ik 219 90.29 | 81.65
107360162090102 | KR PRSESACE BT 060200 hESE e=k:] Eptinpd g 210 91.71 | 80.86
107360162090109 | FiF PRSES L E B 060200 hES eq=kzl BBt gr= 204 89.71 | 78.86
107360162090094 | fRZZ PRSES A F B 060200 hESE £l Eptinpd g 198 90.28 | 78.15
107360162090135 | [EIR HEFh 040101 HEFRE =R i ek 227 79.33 77.5
107360162090144 | 184F4F HEZRR 040101 HEFRE e=k] Epiinpd g 209 84.83 | 77.25
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107360162090208 | EE#8 040102 eI FIe £B% |PHRERETIU| #®FE 224 87.88 81.27
107360162090204 | E=XHF 040102 RETHFIL es=k] Eptiapd i 238 89.38 84.36
107360162090180 | FEFIEY 040102 RESHFIS ES=k] Eptiapd g 240 88.63 84.31
107360162090219 | R3TiH, 040102 RESHFIe es=k] EiET e 218 89.75 | 81.21
107360162090159 | &% 040102 RESHFIe e=kc G ez 203 88.50 | 78.08
107360162090170 | 45& 040102 RESHFIe £HH i i 221 79.25 76.46
107360162090246 | &2k 040104 Lt Ex e=Lc Eptinpd g 248 78.17 80.42
107360162090245 | 4RI 040104 Lt E= ES{=E i e 225 75.83 75.42
107360162090251 | PFET% 040106 BEHEF e =kl G g 224 81.56 78.11
107360162090259 | HEE 040106 BENEF ES{=E Eptiapd g 206 86.44 | 77.56
107360107360035 | JEIBEAZ 040171 RIEHEZF e =kl G BiEE 0 93.00 93
107360162090327 | &% 045171 | FIFESHF <HHl i g 231 9350 | 85.25
107360162090322 | #E&E% 045171 | ERIFESHZF e=k Eptapil g 257 82.13 83.9
107360162090321 | ZHERE 045171 | FRIFESHZF ex=L] Etiapl Gr 227 88.50 | 82.08
107360162090320 | L=tk 045171 | EFRIFESHF 2R Eptapil e 235 84.13 | 81.23
107360162090290 | XPKRHE 045171 | ZERIBRESHE ex=L] Eptiapd G 213 89.38 80.19
107360162090299 | %475 045171 | ERIFESHZF e=L0 Eptinpd g 209 90.00 | 79.83
107360162090295 | f#hEF 045171 | ZERIBRESHE es=k] i G 217 86.88 79.6
107360162090315 | Z=fEis 045171 | ERRESHZ EeS=k i G 229 82.50 | 79.42
107360162090314 | Z=4f 045171 | ZERBRESHE £HH i e 211 86.50 | 78.42
107360162090317 | &8 045171 | ERIFESHZF e =k Eptinpd g 205 83.75 76.04
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107360162090302 045171 | ZRRESHEF 2B Eptiapd 195 84.25 74.63
107360162090283 045171 | HRRESHEF Ex{=d EiEtxl 187 86.88 74.6
107360162090332 045173 BUSSEE 2B Eptiapd 247 88.50 85.42
107360162090445 045173 B4 = e =k @it R) 228 91.67 83.84
107360162090343 045173 B =3 £ B4 EiEit % 228 86.63 81.31
107360162090414 045173 | #HBHY4 = =k PGl 223 87.25 80.79
107360162090427 045173 | #B% =i = Eptiapd 216 86.50 79.25
107360162090367 045173 | #B4 = Ex{=ka EiEtLl 203 90.67 79.17
107360162090345 045173 | #&4 =i =L Eptiapd 221 84.50 79.08
107360162090454 045173 | HEMSSEHE <B4 G aml 213 84.50 77.75
107360162090450 045173 | HBENSSEE £HFl Eptiapd 205 87.13 77.73
107360162090377 045173 | HEMSSEHE < HHl G apl 183 92.00 76.5
107360162090380 045173 | #B&% =i £H% Eptiapd 216 83.00 775
107360162090337 045173 | #&% =i =L EiEtLl 210 81.67 75.83
107360162090448 045173 | HBENSSER 2B Etiapd 217 79.00 75.67
107360162090464 045173 | #BY4 = Ex{=ki EEtLl 202 83.67 75.5
107360162090376 045173 | # &% =g £HE Eptiapd 182 90.14 75.4
107360162090404 045173 | #BY4 = =k EEtL 187 87.50 74.92
107360162090369 045173 | B = =Bl Eptiapd 192 85.63 74.81
107360162090411 045173 | #B = ==L EiEtL 181 89.00 74.67
107360162090373 045173 | #HBE =i =Bl Eptiapd 198 83.17 74.58
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107360162090465 | S & WEFR 045173 | HEMSSEE | 2B% e e 183 88.00 74.5
107360162090336 | i1 HEF 045173 | HEMSSEE | £BH Epipd G 191 84.88 | 74.27
107360162090371 | XIIFF HEF 045173 | HERSSEE e=Ll Eptapil gi& 210 78.50 | 74.25
107360162090435 | f&/\ik WEFR 045173 | HENSSER ex=k] Eptiapd S 213 76.50 | 73.75
107360162090375 | SKHIHH HEFh 045173 | HEMNSSEE | 2B Eptinpd giE 184 85.50 | 73.42
107360162090358 | FH3ZiE HEFh 045173 | HEMSSEE | £B% EET gk 184 82.83 | 72.08
107360162090430 | 3KEHT WEF 045173 | HEMSSEE | =2HB% Eptinpd giE 189 81.14 | 72.07
107360162090488 | 8 DR 040200 IHIRSE 284 | SRERER GE 218 80.67 | 76.67
107360162090476 | ZSESd IDERERT 040200 DI £H% G BRigEZ| o0 92 92
107360162090470 | 513 IDERERT 040200 RS ES{=E Eptiapd HE 231 90.3 83.67
107360162090472 | ZKHKER, DR 040200 ES e =kl G i 232 86.97 | 82.15
107360162090481 | K7 IDEBEF R 040200 DR <HHl Eptiapd rE 220 89.47 81.4
107360162090487 | Z=£TF) DR 040200 IDIRS e=kol Eptapil gk 235 81.23 | 79.78
107360162090535 | EXFKAN ORBFENEF 030501 | GeBENEARFE | £HF | SRBERER Gr 199 88.2 77.3
107360162090517 | $HE SRBENER 030501 | BRBENEARIE | £B8%H | BREKER | %% 179 87 73.3
107360162090495 | F34E ORBENFR 030501 | BB ENEARFE | £H%! EiEtxl hE 224 914 83
107360162090500 | fAJ%<E= ORBENER 030501 | BeBENERFE | £H Eptinpdl G 219 90.6 81.8
107360162090546 | 17RRE ORRFENER 030501 | SeBRENEARFE | £B% i e 192 92.2 78.1
107360162090594 | EAZAlS ORBENER 030505 RIEBLAHE £H% | SREBRER | &#F 194 89 76.8
107360162090621 | Z=fE OB ENFh 030505 BEBGAHE A% | BREBRER | FiE 190 88.2 75.8
107360162090598 | EHE SRBENER 030505 RIEBGAHE A% | SRERER | &% 175 88.4 73.4
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107360162090634 | &% |HSARERXHEESFM | 060222 FEitith g iatE e=Lol Eptiapil g 223 91.43 | 82.88
107360162090642 | &EEIE | HIERRSAHERS R | 060222 [ich| ey mpi=s i = EiEtxl hE 219 90.86 81.93
107360162090647 | {REEE HNEIEFFR 050172 | ESSBEXMHERE | £8% Eptinpdl gz 258 88.2 87.1
107360162090680 | E-H EARZ R 130400 EARFE ex=k] i e 241 91.33 | 85.83
107360162090655 | AER EARZ 130400 EARFE EeS=k Eptinpd gz 232 87.67 82.5
107360162090673 | EHEEAR EARF R 130400 EARFE £HE i e 208 88.83 | 79.08
107360162090718 | HEE EARFERT 130400 ERFE e =k Eptinpd g 242 74.33 77.5
107360162090732 | ShigE HFEFETF 070101 Hitgs £B8# |PHERERETFItR| &#F 213 95.16 | 83.08
107360162090733 | i HEERTER 070101 Hhltigs £ B! e e 220 96.02 | 84.68
107360162090736 | Lhfis%¢ HFEFHITFR 070101 Hitgs ex=L] Etiapl Gr 225 93.3 84.15
107360162090735 | @& HESHRITFR 070101 Hiltigs e=Lcl Gl e 212 95.9 83.29
107360162090737 | 3KF)L HFEFHITF 070101 Hitgs ex=L i Gr 209 96.76 | 83.21
107360162090741 | KEREE HESHITEDR 070101 Hiltigs e=kol Eptapil e 227 88.36 | 82.01
107360162090742 | BEREE HFEFRITF 070101 Hhitgs ex=L] Etiapl e 217 90.38 | 81.36
107360162090738 | Zfig HFERTER 070101 Hiltigs £ B! i e 199 93.08 | 79.71
107360162090744 | 3KFREE HFEFHITF 070103 | HRICEHIESELT | =B Eptiapd S 233 94.46 | 86.06
107360162090746 | FEH HESHRITER 070103 | #=FieS5EIESLT | =£BH Eptinpd g 206 90.84 | 79.75
107360162090755 | BHBIR HFEHITF 070104 N g £HBH i e 205 95.96 | 82.15
107360162090756 | faIBE/L) HEESRITFER 070104 N FREL e=L G g 216 92.2 82.1
107360162090753 | 3KEZR HFEFHTFR 070104 N FREE =kl i i 191 97.04 | 80.35
107360162090747 | EF=3H HEERTER 070104 s e=L G g 189 96.74 | 79.87
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107360162090752 | BRLIEE HFESHRITFR 070104 PR e{=F] EpGAApdl e 187 93.44 | 77.89
107360107360204 | Tk YIIRSHEFTEFFR | 070201 HicHE 2Bl SET BiEE 0 92 92
107360162090765 | 5KiF=E | YIESHEFIEFR | 070203 | RFSHFHE | £8% Eptinpd g 236 86.9 82.78
107360162090764 | Z=U% YIRS F TSk | 070203 | RFESHFYE | £B% ErGinpd ek 218 91.7 82.18
107360162090758 | SKEISH YIESHEFIRESE | 070203 RFS5oFHE =Bl Eptiapd mE 198 90.6 78.3
107360162090762 | W5 | YESHEFIEF | 070203 | RFSHFHE | £BH BBt & 196 89.2 77.27
107360162090761 | |=MR | YESHFIEFR | 070203 | RFSHFHE | £BH Eptinpd ey 198 88.5 77.25
107360162090757 | #fHfH ESEFTESR | 070203 [RF50FHE 2Bl G apal S 176 88.3 73.48
107360162090767 | XIiF MESHETFTRESER | 070204 EHFE £ HFl Eptiapd rE 194 88.6 76.63
107360162090768 | =738 | ¥IESHEFIEFRE | 070205 R TSYIE Ea=k EGnpd g 209 89 79.33
107360162090769 | 3KfEfE | WESEFIEFR | 070205 BB TSHE e=k] Epinpd giE 214 86.4 78.87
107360162090771 | 3R HWEHTIEFRR 070301 T < HHl PG apl WS 0 92 92
107360162090770 | &% WHEHITER 070301 T e=k:] Eptnpd e 246 91 86.5
107360162090773 | =R W TFR 070301 FTHLE e=kzl Epipd ik 214 92 81.67
107360162090784 | ¥ HWEHTER 070302 o= =Bl Etiapd hE 245 89 85.33
107360162090774 | R T F R 070302 DHTHE e=kzl Epiinpd e 235 88 83.17
107360162090780 | XIiGE R T H R 070302 PITE 2B Gl Gk 240 86 83
107360162090778 | 3KEE HHE T FR 070302 o= eq=kzl Epiinpd e 208 90 79.67
107360162090777 | FEiF HWEHIFEER 070302 DTE £l Eptinpd giE 206 89 78.83
107360162090782 | =& HE T ERR 070302 o= 2Bl EiEtLl hE 218 84 78.33
107360162090794 | Fz=& HEH TR 070303 B e{=f] Epiinpd BRig#E%| 0 93.8 93.8
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107360162090785 HWEH TR 070303 i@ 215 91.2 81.43
107360162090789 HE T ER 070303 EiEi 198 90.4 78.2
107360162090786 HWEHTER 070303 EiEl 195 90.6 77.8
107360162090799 HE TR 070303 =i 186 90.2 76.1
107360162090804 RN TR 070304 i@ 0 90.6 90.6
107360162090801 HE TR 070304 EiE 220 90.4 81.87
107360162090803 W T ER 070304 i@ 214 91.2 81.27
107360162090802 HE T ER 070304 EiE 196 89 77.17
107360162090807 W TR 070305 | ERFHESYE EEE! 238 93.8 86.57
107360162090811 HWE T ERR 070305 | BRFHFEYIE =il 0 89.4 89.4
107360162090809 W TR 070305 | ERFHEE5IE EEE! 199 93.2 79.77
107360162090808 HWEHTERR 070305 | EHFHFESYE =iE] 207 88.6 78.8
107360162090814 EnRlFEh 071001 i@ 191 85.17 | 74.42
107360162090819 EmRlEEFR 071001 EiE 194 80.17 72.42
107360162090813 EmRlFEEhR 071008 RKBEME G 219 85.33 | 79.17
107360162090820 iRl FE S 071008 KEEWMZ =G 179 85.83 | 72.75
107360162090830 HmRIFFR 071010 |E¥MHESDFENF =iE] 219 89 81
107360162090827 LEanRlFE S 071010 |EMHESDFENZ =i 218 85.5 79.08
107360162090823 Grz =l 071010 |E¥MMHZEEDFEWS =iE] 186 87.17 | 74.59
107360162090839 IR SINERIF S 070501 BAMIES G 0 88 88
107360162090841 HWIBESIMERISFS M | 070501 BAMIES G 204 91.4 79.7
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107360107360232 | Bhi#tk | MIERSIHERISEF | 070502 AR £R8H G Big4E 0 92.5 92.5
107360107360231 | TRF | MIRSHERIFSFH | 070502 A RS e=kzl SE BiEE 0 93 93
107360162090853 | FZ& WIRSIMERISFSF P | 070502 AR e=k:] Epinpd e 226 80.2 77.77
107360162090851 | Zi IR SIAERIZSE | 070502 A RS e=kzl BBt g% 192 90.4 77.2
107360162090859 | BEW | MIBSIKERIZFE | 070502 AR e=k:] Eptinpd g 215 82.6 77.13
107360162090844 | BXEE | MHIBSKERIFSEE | 070502 A RS eq=kzl BBt GE 214 76.4 73.87
107360162090866 | fEH WIESINERISFSEE | 070503 |EFSHIREERS| 2B |PHERETIT| S#RFE 200 89 77.83
107360162090871 | ER4IE | MIRSIRERIZSE: | 070503 |[EZSHIFMEERS%| £H% HiE giE 229 89 82.67
107360162090867 | #AtE | MESINERSFF | 070503 |WEFSHIRHEERSE| 2B Eptinpd BRigEZ| O 88 88
107360162090873 | K= HIRSIRERISSEE | 070521 NSRS e=kzl HE e 179 91.2 75.43
107360162090879 | L5 HERAZER 040110 HERAKZF £H% |PHREEsTR| %% 214 89.2 80.27
107360162090895 | &z HERAZR 040110 HERAZFE e=kzl Epipd G 234 92.6 85.3
107360162090891 | 537 HWERAFE 040110 HERAF £/ EGAApdl Gk 213 93.2 82.1
107360162090903 | N HERAEE 040173 Bre s e=kzl Epipd ik 252 92.6 88.3
107360162090902 | ZFXHp HERAZER 040173 Eeews e=k:] Epinpd GE 251 92.4 88.03
107360162090900 | a4 HERAZER: 040173 Bre s e=kzl SiE GE 248 92.6 87.63
107360162090452 | FRIKi% HERARZER 045173 | HBEMNSSEE | =BH Eptinpd G 240 93.2 86.6
107360162090354 | /R 2% HERAZR 045173 | HBENSSERE | =H% EpEipdl S 228 91.4 83.7
107360162090422 | =1% HERARZER 045173 | HBEMSSEE | =BH Eptinpd G 225 89.2 82.1
107360162090329 | /1B HERAZER: 045173 | HEMNSSEE | £BH Epiinpd & 201 90.2 78.6
107360162090349 | Z=H#% HERARFR 045173 HERSSEE = Eptiapd hxE 197 89.4 77.53

#
o
=
©
=




ELIRS e REFRT smELm| RENEWER  |ZEEIst| TLH A |mdens| SIS | SRSk
107360162090409 | E =K HERAER 045173 | HERSSEE 2B Eptiapd gk 200 88 77.33
107360162090400 | =% HERAFR 045173 | HENSSEE Ex{=d EiEtxl rE 198 88.6 77.3
107360162090328 | 3KsEHE HERAER 045173 | HERSESEE 2B Eptiapd ik 184 93.2 77.27
107360162090915 | ERRE! EFR T 045174 YIEERRSE =k G pd hmE 234 81.5 79.75
107360162090909 | 5Ki% EfRS R R 045174 WYIEERHE =HH EiEitLl hE 210 85 77.5
107360162090918 | [&KA& EFR AR 045174 XIEERRSE =k G pd hnE 180 78.33 69.17
107360162090920 | Z=37i4 E el 050171 KEHISRS =Bl Eptiapd g 209 91 80.33
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